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CERTIFICATE IN WATER HARVESTING AND 
MANAGEMENT (CWHM) 

Term-End Examination 0 0 1 7 4 
December, 2017 

ONR-003 : WATER HARVESTING, 
CONSERVATION AND UTILIZATION 

Time : 3 hours 	 Maximum Marks : 75 

Note : (i) Attempt any five questions. 

(ii) All questions carry equal marks. 

(iii) Use of calculator is permitted. 

1. (a) What are "in situ" rainwater harvesting 
techniques ? Describe any four "in situ" 
rainwater harvesting techniques. 	2+8=10 

(b) What is rainwater harvesting ? Explain 	5 
basic steps involved in rainwater harvesting. 

2. (a) Explain rooftop rainwater harvesting 	5 
technique. How can be helpful in 
recharging groundwater ? 

(b) Calculate water harvesting potential of a 	5 
roof covering an area of 100 m 2, receiving 
rainfall about 75 cm per annum, assuming 
the collection (coefficient) efficiency of 70%. 

(c) Why the filtration of harvested roof top 
rainwater is required ? 

5 
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3. 	(a) Explain in brief the methodology of 	5 
planning and design of water storage tanks 
for rural areas. 

(b) Determine the size of water storage tank for 	5 
a household of 4 person for 120 days. The 
per capita water requirement is 40 litres per 
day. 

(c) Write the benefits of rainwater harvesting 	5 
for improving the Crop Production. 

4. 	(a) Differentiate between Percolation tank and 
Storage tank for rainwater harvesting. 

(b) Calculate the gross capacity of storage pond 10 
for applying 5 cm depth of irrigation to 
10 ha area and meeting water need of 50 
cows for a period of 30 days, assuming that 
dairy cow needs 70 litres of water per day. 

5. 	(a) What is irrigation ? Explain surface 2+3 
methods of irrigation ? 

(b) What are the advantages and limitation of 	5 
drip irrigation system ? 

(c) What are the benefits of artificial recharge 	5 
to groundwater ? 

6. 	(a) List different techniques of artificial 	5 
groundwater recharge. 

(b) Define irrigation scheduling. How it is 
helpful in water saving ? 

(c) Differentiate between recharge shaft and 	5 
recharge pits. 
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7. 	(a) 

(b) 

(c) 

	

8. 	(a) 

(b) 

(c) 

What do you mean by water demand ? 
Write formula for computing water demand 
under different head. 

Compute total water demand for a period 
of 30 days with following information : 

Total no. of persons = 10 

Per capita water requirement = 70 litre/ day 

No. of livestock = 50 

Per animal water consumption = 30 litre/ 
day 

What is earth fill dam ? Explain different 
functions of earth fill dam. 

What is rainfed farming ? How the water 
productivity is enhanced under rainfed 
farming ? 

Define irrigation efficiency. How would 
you compute water storage efficiency ? 

Calculate water conveyance efficiency, if the 
discharge of 70 litre per second was released 
from the source and 50 litres per second was 
delivered at the field. 
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